
Elwe21 Lasttie It inversion-symmetric chain

- ---
① Two district regimes

T

-T
8-

Inversion : Y
-

= &
, or to modit quartered



1 ---- --Tight-binding basis
H

P 2-
↑EProjector on to ecluped T I ---bands -

P-
1 = 7

-
define Pr matrx projects

ontooccupied
Wrk



toCar rewrite the tight-binding berry phose as
a tight-bindy wilson loop

Wi = Ihp (mo,
Ki

⑳I i are
1= 7Tight-binding Wilson loog - aret

S



INow : Suppose the the

!
in the the limit, these

basis fas form a bard representation do not contribute tothe

g =Se6 -igked Berry connection

Ugan Be No tefeconged bands

&# of bands onthemodel
an ergenstates NothNo

Uglt]= In 1 Active
Neet

-UglXar transformatie



-
nu
ub

has E ,
BrghigBii)-hen

=> hang=En
=> We can defie the No No Summatex



=it
↑ =

· (Big)eith-

H
NocNoch

sewy Matrix
un
band representationNot*Not

Matrux

BestBre



Lets focus a inversion symmetry
g = 3510)

=I jk = -k

270

Win kn
e

Boundary Conditions Unk
*V
+(b)Mak

I = gibiteSag U oh



-

- utVi
Wi -b mokt

Di F ↳
OM

k ! 4

I orkirbrkbVez



I

WiV
ki ↳

Holds regardless related
by inversion

-

of symmetry,

↓

wa
~

-WoWe



Lets casidor +
st . - k = ky-by

Skyrsa TRIM)

the TrickyB, B
= B Thi, Kibe/ Bri
· BVby) ThiskeVBef

using this :



opt o , P
,
k

ki
ki

-
-Vibe)(

weO- lun ->W,
J



& ↳

- e [Win
WheWWe&Ti

↳70 are k=fake se

littlegugregretten-P()= Unk k = k +b
mative for Diversion -Bunkat K



detWe - detedetpde
Go, kay

alo·
=M (inversion egenuators at So, ifg

occupied! states M inversion egevatorsa
proded 1 - Hof
~ negativenusie

ergenvales
at K



Applied to ourId charn
* =① ot 19 min so ②

-9+ 0
.

t

I8F
se-

p : 2 modle = 6=T

This is the first example of
a symmetry indicator of band topology



Lase invertant Cutpregetetunt

-
licities of

&Y


